SYMMETRIC RELATION

1. Ais bigger than B, who is bigger than C.
D is bigger than E but not as big as F.
Cis bigger than F.

2. Rahul is taller than Parkash but not as tall as Mohit. Sohit is taller than Naresh but not as tall as Parkash.
Who is the tallest?

Ashok is heavier than Gopal. Mahesh is lighter than Jayesh. Prashant is heavier than Jayesh but lighter
than Gopal. Who among them is the heaviest?

Rahul is 14th from the top and 28th from the bottom in a queue. How many persons are there in the
queue?

Mohan is 24th from the left and 14th from the right in a row. How many persons are there in the row?
In a row of 63 persons. Mohan is 18th from the left. Find Mohan’s position from right end?
In arow a person is 19th from either end. How many persons are there in the row?

Rahul is 14th from the top and 28th from the bottom in a queue. How many more persons to be added so
that the total strength- become 80?

In an exam Rohan’s rank 18" from the top and 21° from the bottom. If there are 8 persons absent and 10
students are failed. Find the total number of students.

. If Ais 10th from the left and B is 15th from the right. Find A’s position from the right, if B is 19th from the
left end.

. In an exam Suman’s rank 11th from the top and 31st from the bottom. If there are 6 persons absent and 9
students are failed. How many students are there who had given the exam?

. In a class of 60, where girls are twice that of boys. Mohit ranked 17th from the top. If there are 8 girls
ahead of Mohit, how many boys are after Mohit in the rank?

. In aclass of 72, where girls are twice that of boys. Rohan ranked 17th from the top. If there are 10 girls
ahead of Rohan, how many boys are after him in the rank?

. In aclass boys and girls are 4:3. Among the boys Mohit is 18th from the last. Find the total number of
students if there are 10 students are ahead of Mohit.

. Inaclass boys and girls are 4:3. Among the boys Mohit is 18th from the last. Find the total number of
students if there are 10boys are ahead of Mohit.

. Sohan is 6th rank ahead of Rohit in a class of 60. if Rohit’s rank 15 from the right. Find position of Sohan
from the left end?

. In arow of children, Rohini is 10th from the left and Suresh is 31st from the right. Find total no of students

. In arow of children, Rohini is 10th from the left and Suresh is 31st from the right. Find maximum no of
students

. In arow of children, Rohini is 10th from the left and Suresh is 31st from the right. Find minimum no of
students




